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C=/(8v3) +122
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23.

Ds5vi @6z @2
@ 82 ® 92

B

= AolA BOol W 549 @
2 Het o

BH = 14c0s30° = 14 x \/75 =73

ﬁ=14sm30°:14x%=7
CH=AH=17
AC =72




24.

Q.82 7917} o] 1R Y A AA 30°
7120 A AYL 5m 2274 ¢ 2| - A

e gt B Z+o] 37171 60° 4 o, Wt
79| Eol & stz (& w=ole FA

gt

=

A

_ . 5
AH = 5sin30° = é(m)
- CH=5co0s30° = %g(m)
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CH = 8c0s30° =43
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~AB=AH+BH=4+12=16




26. A71|S olg3te] 714719 ABC 9 B

2 sin AtanA
©) % @ acos AtanA

® asin AcosA @ a?sin AcosA

a? sin AcosA
@

BC=axsinA , AC=axcosA °|B&
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dWolE FstH? (F, sind3® =
0.68, cos43° = 0.73, tan43° = 0.93
)

® 73 @ 1241 @ 16.58
@24.82 ® 49.64

B

AC =68,
BC =13

.. AABC = 6.8 X 7.3 x % = 24.82
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=
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=
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Q sinB= - © c= - © tanB= —
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= B:—
® a tan B ® cos
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c sin B
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b b
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AC = BC tan 78° = 10 x 4.7046 = 47.046
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16 cm

AC = 25c0s40° = 25 x 0.77 = 19.25(cm)
BC = 255in40° = 25 x 0.64 = 16(cm)
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AE 7|20 7 5to] B em 9] Eo]d 31X

Tfolat

@D 25-203 @ 25-5043
® 50 - 202 @ 100 - 253
(@)100—50«/3

B

H BelA OAC] Y A4S IS
o ¥h= s He sk

- x=0A-0H
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40. g 2YolA AC o Aol=?

A
4/2"
A5°

R
B&<TC

Q

OV @vii @V @ Vel OV




